000000 ((@DOOoboo0oooooooag)



oo ooboboobobobooobn
1 Jdoboboobobobbooboubooo

gboougobbbbubooououugobooboobbbobboooonon

# 1ls scalar
Makefile anime.pro main.f pldt.pro pldtps.pro rddt.pro

O00000 FortranO OO OOQOUOOOOOOOOFortran0 000 QO0OO0OOOOOO
0000000000000 00000C0OoO00oooooOUOOooOU0oOO00d mainfO
FortranO OO OQOQOQOOOOOO

1.1 00000000000000 (make)

OD00O0o0oboboo0ob0o0oboOo0b0o0o0ooobDo0oooooDO “scalar’0 0
UbOD000makeJ OO0 DOOO0OO0DOO0O0OO0O0OO0O0O00OO00O0O0ODODOODOOODOODO
gubbooggoobbbbuobobiblmain.o 000000 DOOOODOOO a.out
goboioboooobooobboobobdbb out.dat00OOOOODO

~
# cd scalar
# make
f77 -c -o main.o main.f
main.f:

MAIN:
f77 -o a.out main.o
./a.out

write step= 0 time= 0.000E+00

write step= 50 time= 0.125E+02

write step= 100 time= 0.250E+02

### normal stop ###

# 1s
Makefile anime.pro main.o pldt.pro rddt.pro
a.outx* main.f out.dat pldtps.pro y

1.2 000000000 (out.dat)

JbOddtddout.dat 00000000 0O0OOO0OOOOOOOO0OOOOOOOO
obugobgbogguodgbbobobbbudgbooboboobbaooobg 1o
00000000 (jx) 00000000 (x)00000000000000 200000



0000000 timestepO (ns)000 (time) 0000000000 300000 1020
000000000000 000 00 (x) 000000000 (wODOODODOOOODODOO
Ol30ooobobbobooobbooooooobobubobdubd bDFortran g g
O main.f0 53,55, 59000 Format DO OO OO0 ODO0O0OO0ODOO0O0OO0OOOODOOO

~

# head out.dat
100, 3
0, 0.00
1.0, 1.0000000
2.0, 1.0000000
3.0, 1.0000000
o o)

1.3 ODO0O0oooon

Ooboobobo IbLobooboboooobooobgooboooibLbObbooonoooon
0000000000000 0000Uooo(@idbooooDooooooomm

1.3.1 IDLO OO (idl)

oobidlooooooooooo

o )

gbooobobooboboolIbLogbbobd

~
IDL Version 5.5 (sunos sparc). (c) 2001, Research Systems, Inc.
Installation number: XXXXX.
Licensed for use by: XXXXX
IDL>

J

1.3.2 0000000 (rrddt)

gobobobobnb rddt.prodd 00 gogonoobobobooobbboobond
OO00O0OodbbOOO"ut.dat” 00000000 0OO0ODOdIDDDOOOOOODOODO
googoo

(IDL> .r rddt )

O 000000




1.3.3 00000 (.r pldt)

gbbobbdd pldt.prodd bbb obbbooobboobbbood
goon

[IDL> .r pldt ]

O Lrscalar 000 00O0OOOOODO

1.3.4 IDLOOO (exit)

exitUOOOO IDLOODOOODOOOOOO0ODOO

CIDL) exit )




2 Jooobouobbood

21 ODO0OOOOOO0OO

O00o0000o0obbOboooogo FrCSO0bOooobooboboOo 720000 880

gbboboobodoboodobobbdonbno

c solve equation

do j=1,jx-1
£(j)=0.5%cs*(u(j+1)+u(j))
enddo

f(Gx)=f(jx-1)

do j=2,jx-1
u(j)=u(j)-dt/dxx(£(§)-f(G-1))
enddo

u(1)=u(2)
u(jx)=u(jx-1)
c ftcs - end

c ftcs - start

>>>

22 00000000 (jx)

gbobooooboooodosddd parameter U OO jxO000000 0000000

gogouobobobbboodgbboouooboooooon

(: parameter (jx=100)




23 000000ODOOO0O0ODOQO (nstop, nskip)

o0oooooboboobbibiob0dl4bid nstop 156000 nskipO OO O
gbobooobbogbobbbobbbdooobboobobbboooobbboobo
gobgobbobobboboboobooboboooboooooobobbooonon

¢ time control parameters

nstop=100
nskip = 50

2.4 CFLOODOOO (safety)

CFLOOD0OD0O68000O (safety) D00 O0OODOO0OOOOOOOOOOOOOOOO
OO000000OnskipOO0O0OOD0O0OOsafetyQ 0000000 OOOOOOOOO
goboobooooooodgd

c obtain time spacing
safety=0.25

3 0000000000000 (.r anime)

O00bO000000000ddl anime.pro0 0000000000 ODOOIDLOOO
goooooobobooboboooooboobooooon

CIDL> .r anime )

gugoboboboobouboooboobuobobuouoboobibibobdUnskipd 1
O00O00o0obo0o0obo0ogodbobObUdUanime.prod window DO OOOOOO DO
U00Uanime.pro0000OUOO0OOODOOODOOODOOOODODOON




0

0000000000 main.f

[
c
c array definitions
c
implicit real*8 (a-h,o0-z)
parameter (jx=100)
dimension x(1:jx),u(l:jx),f(1:3jx)
c
c prologue
c
¢ time control parameters
nstop=100
nskip = 50
e

c 1initialize counters

0.0

ns =0

time

o
o Set initial condition
o

pi=4.*atan(1.0)
c grid
dx=1.0
x(1)=dx
do j=1,jx-1
x(j+1)=x(j)+dx
9 enddo




c variable

do j=1,jx/2
u(jd= 1.0

enddo

do j=jx/2+1,jx
u(j)= 0.0

enddo

¢ velocity

cs=1.0
C ———————————————————————————————————————————————————————————————————————
o Output initial condition
c

write(6,103) ns,time

103 format (1x,’ write ’,’step=’,18,’ time=’,e10.3)
open(unit=10,file=’out.dat’,form="formatted’)
write(10,100) jx,nx

100 format(ib,’,’,1ib)
write(10,101) ns,time
101 format (i5,’,’,f6.2)
do j=1,jx
write(10,102) x(j),u(j)
enddo
102 format(f5.1,’,’,f10.7)
c |
c time integration
c |

1000 continue

ns = ns+l
G
c obtain time spacing

safety=0.2b

dt=safety*dx/cs

time=time+dt




solve equation

ftcs - start >>>

do j=1,jx-1
£(j)=0.5*cs*(u(j+1)+u(j))
enddo

f(Gx)=f(jx-1)

do j=2,jx-1
u(j)=u(G)-dt/dx* (£ (§)-£(j-1))
enddo

u(1)=u(2)
u(jx)=u(jx-1)
ftcs - end >>>
data output
if (mod(ns,nskip).eq.0) then
write(6,103) ns,time
write(10,101) ns,time
do j=1,jx
write(10,102) x(j),u(j)
enddo
endif

if (ns .1t. nstop) goto 1000
close(10)

write(6,*) ’ ### normal stop ###’
end




000000000 Orddt.pro

; rddt.pro
openr,1,’out.dat’
readf,1, jx,nx

; define array
ns=intarr (nx)
t=fltarr(nx)

x=fltarr(jx)
u=fltarr(jx,nx)

; temporary variables for read data
ns_and_t=fltarr(2,1)
x_and_u=fltarr(2, jx)

for n=0,nx-1 do begin
readf,1,ns_and_t
readf,1,x_and_u
ns(n)=fix(ns_and_t(0,0))
t(n)=ns_and_t(1,0)
u(x,n)=x_and_u(l,*)

endfor

close,1
free_lun,1

x(*)=x_and_u(0,x*)
delvar,ns_and_t,x_and_u

help
end

10



0000000000 pldt.pro

Ix.style=1
ly.style=1
Ip.charsize=1.4

plot,x,u(*,0),xtitle="x’,ytitle=’u’,linest=1,yrange=[-1,3],xrange=[0,100]
for n=1,nx-1 do begin

oplot,x,u(*,n)

oplot,x,u(*,n),psym=4

endfor

end

000000000 0anime.pro

Ix.style=1
ly.style=1
Ip.charsize=1.4

window,xsize=480,ysize=480

xinteranimate,set=[480,480,nx]
for n=0,nx-1 do begin

plot,x,u(*,n) ,xtitle="x’,ytitle="u’,yrange=[-1,3],xrange=[0,100]
oplot,x,u(*,n) ,psym=4

xinteranimate,frame=n,window=0
endfor
xinteranimate

end

11




oouobgo
1 10000000

O0000000000000000000000000 (p27300 p282) 000000
Oo0oo0O0oOoO0o0oOo0oooobooOorrcsooooobooboboboboboboobooo
ooboobooddgodgoody=1,.500000 uw; =107 =51,..100 000 0 u; = 00
O0000v=cAt/Az=020000000000000000000

1. Lax-Wendroff OO O OO OO
2. 0010000000000 ooo™
3. 000000000 mnmodODOOOOOOO

0000000 D0D0O0O00000oOoDooO00C00OO (0112,0 110000000000

0Oo0od
100o0o00oo P P
u u
o o =" "
ogoooood
_— . At n
u; :“j_ﬂ(fj+1/2_fj—1/2) )

OooooooorrTCcSoooboobobbooboono

. 1 1
j1j2 = §(fj+1 +fi) = §C(Uj+1 + uy) (3)

goooboboboboobogp2100bboboobbbobboobobobbooon
oooboggp2rv6e0 0000000

-1C L L L L | -1C L L L L |
0 20 40 60 80 100 0 20 40 60 80 100

02 0000000Lax-Wendroft 0 4+0000000001000000000

12



2 Burgers U [

1000000000000 0000000 Burgers U0

ou 0 [(u?

4 2 () =0 4

8t+81;<2> 4)
O1000000000000000000b00000 0000000000 o0ooon
DDD(D1.15,D1.16)DDDDDDDDDDDDDDDDDp23DDDDDDDD

: U (u?  u?) 1
/27 5 { (;2 + % - §’Uj+1 + ujl (wjr1 — uy) (5)

gogoboobobogdao

3 10000bognt

1gboboobouogbobobooobobboooilooboboboo

ou 0%u

o2 6

ot " or (6)
OFTCSO0000000D0OooDOoOooDdooDooooDoooooggnooogo o

gobobobooobobobooobobon
guobdoobbbdbuobiobbdoidbUes0bbO kappa U0 onon

_ N
c variable
do j=1,jx
u(j)= exp(-(((x(j)-x(jx/2))/5.)**2))
enddo
c
¢ kappa
k =1.
L appa=1.0 )
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Joooguuoobooboon
1 0000

ubooodboobodgbodgbooobobdobogbobdoodgbogdgadan
gbbooobobbooouboobbuoooguobboboouoobbooooboo oo
godooobgobgbbdooobbobaobbdooodboboobobododaan
ggbbooouoobbboubdooobouoboboooobouboboboooboaon
OO0000000000000DO000O0000DO00DOOODODOOOO0O000 CANS
O Coordinated Astronomical Numerical Software) 0 O O

2 CANSOOODOOOOoo

CANSOOOOOOOOODOOOOOOoOooooobDOOoboOoDOOoOoDOOOoOoOoobo
gbooboooboooobuoooooboobobobooboboooobbbooo
goobbodoooobbooooboobobboooooobbobbobooboobon
0000000000000 0000CDOOoOOOO0bOOOODObOOODOb0CANSOOD
goobbboobbboboootooobbbooooobbooooobbbobon

CANSOODOOUOOOOOOoDoOoDOobOOOO0DbDOO0O0bOOobDOoobDOooobbooOoo
goboboboooboooooboboblibboosbbobbbboooooobboboon
gboogooobobobod

3 CANSOOO

CANSOOOOOOooboooOooobbDboOooboboboogooboboboboobbOon
googbboboogobobboooobobboboobobobobomboboon
gogogoobbobdbgbobouboobobobbuoooobbobooooon
gogobogbbdodbbbodbooooooobobbuodobbuoobooobobonb
gbobobobbbgbbboooooooooobbbobooagn

goutubdodoooooobbobobbobbbobobboobbobbbbobbb
CANSOOOOoooobobooboobobbooboooooboboooboboobooooooo
gbboboogoboobobuooubbbbboboooobobobboobobboob
gogdboboogbbbobdobgoboobdoobbooooon

4 CANSOOO

CANSOOOOOOODOODOOOOOobObDOoOoobOoObOODbOoObDObOOobODbODObOO
gboggobobobooobuoobuogbibbuoobbbuoooobobbooogobn
000000000000 00000D0 Lax-Wendroff D OO OO OODOOODOOOOO
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RoeO OCIP-MOCCTOUODOUODOOOOOODOOOOODOOODOOOODDOOOOO
000000000000 000O0DO0OCANSODDOIODOOOOoDODb200030000
000000000000 0OO MPIODOOOOOOODO CANS/MPIOODOOO
OO0O0OCANSOOOOOOODOO0OO0ODO0O0OO0O00bOobOobOobOobOoogoooDoto
O0O0000O0O0O0OOoQ0DOO CANSIDOOOOOooOOoDDOoobDooooobD 20003
O00000000000000D0000 CANS2D, CANS3SDODODODOODODODOD

5 CANSOOOOOOO

\
Makefile D0 DO00O00OO0DDOODDOODO Makefile
cansld/ CANS 1D (10000)0 FortranO OO OO
cans2d/ CANS 2D (20 000) 0O FortranO OO OO
cans3d/ CANS 3D 3000 0O) 0O FortranO OO OO
cansnc/ Oo0o0oooobooooboobooboon
id1l/ O000000000O0O mbLogooono
N J
O00000000000 cans-1.0000cans3d0 0000000 DO
6 CANSOO WebO OO
~
000000000000 000000Od0dogoooboood
http://www.astro.phys.s.chiba-u.ac.jp/netlab/ )
~
CANSODOOOO
http://www.astro.phys.s.chiba-u.ac.jp/netlab/astro/index.html )
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Jobooguuoobobobobobooon
1 CANS 1DOOOOOOOO0

CANS 1IDOOOOODOOOO0OO0ODOOOO0OO0OODODOO000O000O0O0ODOOoOoDD
O0DO0D0DOO0000O00Db0DODO0O0000 Lax-Wendrof O OOD0OOOOOOODO
OO0000o0o0o0ooboD ‘namlw 00000000000 OODODOOO

//# 1s hdmlw A
Makefile mlw_ht.f mlw_m3_g.f mlw_m_g.f mlwfull.f
README mlw_ht_c.f mlw_m3t.f mlw_mt.f mlwhalf.f
Readme.tex mlw_ht_cg.f mlw_m3t_c.f mlw_mt_c.f mlwsrcf.f
mlw_a.f mlw_ht_g.f mlw_m3t_cg.f mlw_mt_cg.f mlwsrch.f
mlw_h.f mlw_m.f mlw_m3t_g.f mlw_mt_cgr.f
mlw_h_c.f mlw_m3.f mlw_m_c.f mlw_mt_g.f
mlw_h_cg.f mlw_m3_c.f mlw_m_cg.f mlw_rh.f

\\mlw_h_g.f mlw_m3_cg.f mlw_m_cgr.f mlwartv.f )

0000000000000 0O00000o0ooooo0oo0oo0ooooo0 (boooo
O000000000O00D0) 0000000000000 000000000000O0O00
O0‘md”00000O0C00OODODODOOOOOODODOODOOODOOOODOOOO”O
gboooobogboodad

K# 1s md_shktb h
Makefile bnd.f pldt.pro
README cipbnd.f rddt.pro
Readme.pdf main.f shktb_analytic.pro
Readme.tex main.pro
anime.pro model . f
N /

0000000 FortranODOOOOOOD0OO0OO0O00OOFortranD 000000 OO0DO0O
00000000000 00000O00000000000O00000000oooooD0n
Of000000000OFortrand 000000 DOOOO0O

O000D00000O0D00ODO README [0 Readme.pdf 000D O00OO0OOOODDODOO
000000000000 HTMLOOOOOOOOOODO “htdocs” O web browser O O
0000000000000 0000000000bO0000oDooOooDoooooonooa
OO0d0oooOo WebOOOOOOOOOOoOoOOGOQ

17



1.1 00000000000 (make)

000000000000 00000000000000000000O000O00B0OO0
“cans1d” U “cansnc” U 200 O makeJ OO0 OO0 “ans1d’ O make 00000000
O00000000000000000 libcansid.al “cansnc” O make J OO 0000
0000000 libcansnc.a0 0000000000000

~
# cd cansid
# make
cd hdmlw; make
f77 -0 -c mlwfull.f
(0O)
touch .update
N J
\
# cd ../cansnc
# make
(oo
)

cansldd cansncO 000 OO0 D000 makeO OO OOOODOOOODOOOO Ocans1dOd
cans2ddcans3ddcansnc 0 OO0 000000 OOCOOOOOOOOOO

18



1.2 00000000 (make)

gobooobbooubuognoobobbobooboonobbiobibbOmake 0000
0000000000000 00000000000 (md_shktb)JOOOO0OOOOOO

ooobobbboobodoooguil params.txtO*xx.dacU OO0 OONO
oo

~
# cd md_shktb

# make

£f77 -0 -c main.f

£f77 -0 -c model.f

£f77 -0 -c bnd.f

£f77 -0 -c cipbnd.f

f77 -o a.out main.o model.o bnd.o cipbnd.o -L..

-lcansld

./a.out
write step= 0 time= 0.000E+00 nd
write step= 75 time= 0.505E-01 nd
write step= 154 time= 0.100E+00
write step= 221 time= 0.142E+00 nd
stop step= 221 time= 0.142E+00

### normal stop ###
- J

=]
Q.
Il
S W N -

1.3 0OOogdg

OOoooooo IbLoboooooobobooooooooooIbLobbobooogoog
000000000000 00000000oOo((@doooooDooooooomm

1.3.1 IDLOOO (idl)

oobidlooooobooon

o >

gbobooooboooooIbLogoooboog

~
IDL Version 5.5 (sunos sparc). (c) 2001, Research Systems, Inc.
Installation number: XXXXX.
Licensed for use by: XXXXX
IDL>

N /

19



1.3.2 0000000 (rrddt)

gbobobubdib rddt.prod b goggboobobboobbbbobond
goooob.r0run0000000

(IDL> .r rddt ]

guooobuudibdrelpbbgbdbgoogobobobbouogoogoobobon

~
IDL> help
(oo
GM FLOAT = 1.40000
IX LONG = 208
NX LONG = 4
PR FLOAT = Array[208, 4]
PR1 FLOAT = 0.100000
RO FLOAT = Array[208, 4]
RO1 FLOAT = 0.125000
T FLOAT = Array[4]
TE FLOAT = Array[208, 4]
VX FLOAT = Array[208, 4]
X FLOAT = Array[208]
Compiled Procedures:
$MAIN$ NCGETO1 NCGETOS NCGETS1 NCGETSS
(oo
)

PR(OO0)ORO(0DO)OTE(OO)OVX(OD)D0 20000 (000000000)0000
000X00)0T(00)0 1000000000000help0 000000000000
00000000000dOOO0D0000000000000000PRO prOO0O0
0oo

1.3.3 00000 (.r pldt)

goboobbOd pldt.prod 00000000 0O0O0OO0DOO0OOOOOOOOOOO
goon

(:IDL> .r pldt :)

1.3.4 00O0ODO0O0OOOOOOOO (.r anime)

didDo0o0odbooooooboooobobdU0banime.prod 0 0goooonon
gobbubbdbiddblbDanime.proJ oo gooodboobooogbn

20



O 3: md.shktbd OO

1.3.5 IDLOOO (exit)

exitUOODOOO IDLODOODOODOOOOODOOOODOObOODbOOTOO0OO0ODbOOO
gooog

(IDL> exit )

21



googd

10bogooooobooooobon

1. 00000000000 (md_itshktb)JO0 OO0 OIDLO rddt.prod pldt.prod O
goooooon

00000000000 (mdshktb) DD OO0 OO0OOOOO

3. 0000000000 (md_shkform)J0 000 Danimepro0 000000000
. 00000MHDOOODO (md mhdshktb) DO OO0 0000000

N

W

O 4: md_mhdshktb O O O

00O

e 1I0DOOUDUOOO FortranO DD UOUOOODOOOmakeD OO OOOOODODO
gougbbobuodbtuouoobbububh params.txtU*xxx.dacU D0 OO0 O
gbobboobuoboooobuoobboobobbuouobooboboooooooon
gogodd

o OO UOOOOLOOOUODLULDDDODDOUOOUDO Umake cleanJ Q04
goodgno
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2 CANS 1DOOOOOooog

gobbbboubdgooboooobbooudouboo 300000l main. £,
model.f, bnd . 000U DUOOODODODOOO0O0OO0ODO0OO0OOOOODOOOOOOOOO
Und*xxx 0000000 DOOOO0O0OODO0OO0O0OOO0O0O0ODO0O0OOO0OO0OOY

[# cp -r md_shktb md_shktbl )

2.1 0000000000 (main.f)

gobobbboboougugooooobobobbbbbuoob ot main. £0
ooobooo

2.1.1 00000000 (ix)

gbogbooboboboobooboobobooboobbobooobuooobobbo
00 (md_shktb) D 00000 (ix) 0000000000 000000 main.f00000
gooobbboooobbobbooobobboooobboooooobooobooboobo
goboboobobbuogobooboooobboboogd

~
# cd md_shktb
# 1s
Makefile bnd.f main.o pldt.pro
Makefile-nc Readme.pdf bnd.o model. f shktb_analytic.pro
Makefile-pg Readme.ps cipbnd.f model.o pr.dac
Makefile-pgnc cipbnd.o params.txt rddt.pro t.dac
README a.outx* rdnc.pro vx.dac
anime.pro main.f pldt.f ro.dac x.dac
J
00000000000 main.f00000000000 (1-500)00000000
4 M

c |

c array definitions

c |

implicit real*8 (a-h,o0-z)

parameter (ix=1026)
N J

gbooobobogbob 102z 0bb0obb2004070000 Omaked OO OOOOOOO
gogb200bbougoobobodgoobbooob1ooobouoobooobn
4A000002000000000000800DLDODODO
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2.1.2 J0000D0D0OCOOOOOO (tend, dtout)

00000000 (tend) DO00DDODOODODOODO (dtout) 0000 O0OODOODODOO
main.f000000000000000O00O0DOO0OOOOOO0O0O (26-3200)0

4 N
G T T T T I
¢ time control parameters
c nstop : number of total time steps for the run

dtout=0.05

tend=0.14154

nstop=1000000
N /

gobogogobboodoooigboobbboubobouoobouooooobobn
gogboboooobboooooboobooooooobooobooobbbooboba
goooggboooboboobobobbouobobbuoobbooboooboon

goad

O0000000000000000000000 (mdshktb) DO OOOODOOOODODO
gbboouooobobbooobouooooo
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2.2 000000 (model.f)

0000000 model . 0000000 Omodel . 0000000 (ro)d00 (vx, vy)D
00 (pr)00O0 (bx, by) D0 O0O00O00O00000

2.21 000~000 (gm)

0000000000000 00OSedovOOOO0OOy (gm0 O0O0OOOODOOODO
OO model . f0UO0OO0OOOmodel 000 OOOOOOOOOOO0OOOOOODOO
O00000d (13-1600)0

0000000 s5./3.00000000000000000o0OO 7./5.,00000000000O

[ an=7./5. ]

make 1 OO0 DOdIDODODOO0OOOOOOOODOOOOOOOOO

godd

O0000000000000000000:SedovO (md_sedov)JO0 00O OOOOODO
gobooogno
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23 0000O0OOQOOODOOODO (main.f)
gogbobobobboboobooobbooooon

2.3.1 RoeOUD OO

0000 MHDOOOOOO (mdmhdshktb)Od RoeDO0 OO O0OO0OO0OODOOODOOOOO
O0min.f000000000 (12000)0000000000O

a N

c solve hydrodynamic equations

C hdmlw - start >>>
gqav=3.d0
call mlw_m(ro,pr,vx,vy,by,bx,bxm,dt,qav,gmn,dx,dxm,ix)
hdmlw - end <L
hdroe - start >>>
call roe_m(ro,pr,vx,vy,by,bx,bxm,dt,gm,dx,ix)
hdroe - end <<
hdcip - start <<<
cvis=3.00d0
call cip_m(ro,pr,vx,vy,by,te,vxm,rodx,tedx,vxdxm,vydx
& ,bx,bxm,dt,cvis,gm,dx,dxm,ix)

o o o o o o o o o0

hdcip - end <X

_ J

000 0“mlwm” 000 Lax-Wendroff 0 MHDOOOOOOOOOOOO O “roem” O
00 Lax-Wendroff 0 MHDOOOOOOOOOOOOOOOOOOOOO “call mlwm”
O00000000%all reenm” 00000000 0OO0O0OOOOOOOOOOOOO
ooo
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c solve hydrodynamic equations

o hdmlw - start >>>

c gav=3.d0

C call mlw_m(ro,pr,vx,vy,by,bx,bxm,dt,qav,gmn,dx,dxm,ix)

o hdmlw - end <L

C hdroe - start >>>
call roe_m(ro,pr,vx,vy,by,bx,bxm,dt,gm,dx,ix)

o hdroe - end <<

C hdcip - start <<<

C cvis=3.00d0

C call cip_m(ro,pr,vx,vy,by,te,vxm,rodx,tedx,vxdxm,vydx

c & ,bx,bxm,dt,cvis,gm,dx,dxm,ix)

c hdcip - end <<<

N J
00 ORoe0 O Lax-Wendroff 0 0 00O M safety OO0 0D OO OO00OO0ODOO OO main.f
O0000000b000ooooo

23.2 ClpoogQog

0000 MHDOOOOOO (mdmhdshktb) O CIPOOOOOOOO0OOORoeD OO
OO000DO0O0D00O000O0Omain. fO00000O0O0OCIPOOOOOOOOODODODOO
goubbboboboboodgbboogbbbbooooooobbbobbobbdood
OOO0oDbO0oO0300ocCclpO0d0boboobDO0O0DOndcipO0 OO0 DOODOOODOOO
goooon

/,c hdcip - start >>>
dimension te(ix),vxm(ix),rodx(ix),tedx(ix),vxdxm(ix) ,vydx(ix)

c hdcip - end <K<K
N J
//c hdcip - start >>>

call ciprdy_m(te,vxm,rodx,tedx,vxdxm,vydx,ro,pr,vx,vy
& ,gm,dx,dxm, ix)
call cipbnd(margin,ro,te,vxm,vy,by,rodx,tedx,vxdxm,vydx,ix)

¢ hdcip - end <<X

\_ J
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/,c solve hydrodynamic equations h
o hdmlw - start >>>
c gav=3.d0
C call mlw_m(ro,pr,vx,vy,by,bx,bxm,dt,qav,gmn,dx,dxm,ix)

o hdmlw - end <L
C hdroe - start >>>
c call roe_m(ro,pr,vx,vy,by,bx,bxm,dt,gm,dx,ix)
o hdroe - end <<
C hdcip - start <<<
cvis=3.00d0
call cip_m(ro,pr,vx,vy,by,te,vxm,rodx,tedx,vxdxm,vydx
,bx,bxm,dt,cvis,gm,dx,dxm,ix)
c hdcip - end <<<
N J

OO0 D0ORoeO 0 Lax-Wendroff UD OO M safety DO OO0 OO0DOO0D0O0OOO0O OO main.f
Oooooobboooooood
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2.4 0000000 (bnd.f)

gobboogbbooooubbobbtbdboed.fO0000000O0OODOOODODOO
md_shktb[J bnd. £0 00000 OO0

~
call bdsppx(0,margin,ro,ix)

call bdsppx(0,margin,pr,ix)
call bdspnx(0,margin,vx,ix)
call bdsppx(1l,margin,ro,ix)
call bdsppx(1l,margin,pr,ix)

call bdspnx(1l,margin,vx,ix)

N /
goboodbbododuobbibdbDD bdsppxU bdspnxJ 000 00 ogn
0odddbvudsppxU 0000000000 O0OO0O0O0Obdspnx 00O OOOOO0
gboooboobgo
DO0O00D0O0ODOvwdsppx(UO0O00O,0000,00,00000)0000400000
gooogd

e 100000000000D00000000000000000003000000
000O0000300000000000000000

e 100000000 margin00000000000000000000O000OO
0000000000 Omergin000000000000000000000O00
0000 Lax-Wendroff 100 100 0Roe000 2000CIPOODO 400000
0oo

e 3000000000 (ro)000 (pr)000 (vx)000000000000000
0ooooo

gboogbobbdgubodogbutouoabouoogbbaooobobbobooooon
JO0bDoooduibioddldbdspnxU bdperxU 00O OO0OOO0O0OOO0O0OO00OO0
obobboooobo40booouoboooboobooboooooboooon
bc/READMEL OO DO DOODODO
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CANS 1DO0 00000 (cans-1.00)

goooooooon

hdmlw/ OOOOOO0OOMEDODOUODDOO Lax-Wendroff 0O ODOOOOOOMO
gooood

hdroe/ RoeUUODUOOOOO0OOODOODODOONO

hdcip/ CIPODOOOOOODOOOOOOODOOO

bc/ gobbooobbooooboddg
common/ OO DOO0ODOOOOO0O0OODLODODOODOODLODO

cndsor/ DO UO0OOOOOOD100000O0O00O0 Red Black SORO U DO OO
gobgood

cndbicg/ DU OUOUODUOODDO1000O0DOO0DODO BICGUOOOOLOODOO
goood

htcl/ OU0OO0OOO0ODOOO0OOOOOOODOOOOOOODDOO

selfg/ ODUO0O0OO0OO0O0OOOOOOOO

Kmd_***/ gobbbuoobobboooodgubobao

gooooo
README gogboooboon
md_x***/README gogobogooobodooo

md_*x*/Readme.pdf O OO OODOO PDFOOOOODOOODO
md_x**/Readme.ps O UOOOOOO PSOOODOOODOODO

30



gobobooaon

a I
md_advect/ OOO0O O[O0O]

md_shktb/ 0000 O[OO]

md_shkform/ OO OO0 O[OO]

md_strongshk/ 0O UOOOO OMODO]

md_itshktb/ OO OO0O0 O0ODOODO]
md_mhdshktb/ MHD O 0 0 O [O[MHD]

md_itmhdshktb/ OO MEDO OO O O[O O MHD]

md_awdecay/ OO0 Alfven 0000 OO O[O0 300 MHD]

md_sedov/ OO OOOOSedovd OOODOOOOO]

md_thinst/ OO OO0 O[0O0O0O]

md_cndtb/ OO0 000 O[O0OO]

md_cndsp/ OO00O00000O OOODODOOOOO]

md_spicule/ OO0 OO0O0 OMEDOOODOOOODOO]

md_wind/ OO 0OOParkerd OO0 O0000O0O0O0O0O0O]

md_mhdwind/ MHD 00 00 0 O Weber-Davis 0 OMHDOOOOOOOOOODODO]
md_diskjet/ 0000000 MEDOOOD OMEDOOOODOOOOODODOO]
md_flare/ OO0 O00O0O0O00DOOOOODOODODOODOOOO]
md_cloud/ OO00OO0O0O00O0 O0DOO0OO0ODO0O0ODOO]

md_clsp/ D0O0OO00OO0OD0ODOODO ODOOO0OOO0OO0DODODOODOO]
md_relshk/ 000000000 O[0OOO00O]

gboboboodabn

gbooobbboobodoboboooboobboboboboobbooobboogo

: I
bdcnsx 0O OO0 OO gq(1)=q0

bdfrex 0000 0O0qq(1)=qq(2)

bdfrdx 000000000 0OO0qq(1)=qq(2)-dqq(2)*dx

bdperx DO OO O0Oqq(1)=qq(ix)

bdsppx 000000000 0000000000000 OO0 qq(1)= qq(2)
bdspnx 000000000 0000000000000 OO0 qq(1)=-qq(2)
bdsmpx 000000000 0000000000000 OO0 qq(1)= qq(3)
bdsmnx 000000000 0000000000000 OO0 qq(1)=-qq(3)
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Jobooguuoobobobobobooon
1 CANS2D,3DO0O0OOOOOO

CANS2D0O CANS3DOOODOOOOOCANS1IDOOODOOOODOOOOOOOoODO
goggbbobiooboooooboboobboobbbooboboboboboboon
O MPI FortranODODODOOOOO “mdp.” 0000 00O0O0OOOO0OOODOOOODODOO
OO000000Db0o00b0obO0booboo0ooooboCANSIDODODODOOODODO
gbbugbboooboobbdad

1.1 00000000000000 (make)

000000000000 oUuoUuoUoooooUooooooDoooooooon
O “cans2d”’ 0 “cansnc’ 0 OO0 0O maked OO0 OO0 “cans2d” 0 maked OO OO 0O
0000000 libcans2d.ad0 000000

\
//# cd cans2d

# make
cd hdmlw; make
£fr7 -c¢ mlwfull.f
mlwfull.f:

mlwfull:
£77 -c¢ mlwhalf.f
mlwhalf.f:

mlwhalf:

()
\_ /

CANS 1IDO0 00000000000 “ansne” 0 maked 000000000000
libcansnc.a0 00000000 0(0 CANS IDOOOOO0OOO000O0D0O00O0000
000)0

# cd ../cansnc
# make
(oo
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CANS3DOOODODODOODODO0O0O0OODODOOOOODOO0ODODDOOOO “cans3d”
Umake U0 DOO0O0OOO0OODODO 1libcans3d.aU0 U0 OO OO0

\
# cd cans3d

# make
cd hdmlw; make
£77 -c¢ mlwfull.f
mlwfull.f:

mlwfull:
£f77 -c¢ mlwhalf.f
mlwhalf.f:

mlwhalf:

(0)
\_ J

CANS 1DOOUOOOOO0OOODOO Ocanslddcans2d0d cans3d0 cansnc0 OO OO0 OO
0000 mked OO0 OOO0OO0OOOOOOOOOODOUOOOOOO
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1.2 00000000 (make)

oboobbobbobooooooobbobbUObmke0O0DOOOOOOOO
00 OKelvin-HelmholtzO OO OOOOO0O (mdkh) 00000000000

~

/f# cd md_kh

# make

f77 -c main.f

main.f:

MAIN:

£f77 -c model.f

model . f:

model:
f77 -c bnd.f
bnd.f:
bnd:

f77 -o a.out main.o model.o bnd.o \

-L../.. -lcans2d -lcansnc

./a.out
write step= 0 time= 0.000E+00 nd = 1
write step= 83 time= 0.100E+01 nd = 2
write step= 167 time= 0.201E+01 nd = 3
write step= 251 time= 0.301E+01 nd = 4
write step= 336 time= 0.401E+01 nd = 5
write step= 421 time= 0.500E+01 nd = 6
write step= 510 time= 0.600E+01 nd = 7
write step= 605 time= 0.701E+01 nd = 8
write step= 707 time= 0.801E+01 nd = 9
write step= 817 time= 0.900E+01 nd = 10
write step= 940 time= 0.100E+02 nd = 11
stop step= 940 time= 0.100E+02

### normal stop ###
N /

CANS2DO00000OO0OOCANS1IDODODOODODODOODOODODOOOODOOODDOOOn
googbbbobboobboooboooobouoboobbbobooobobd
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1.3 0OO0ogd
OoOOooobooooboboooo IbLbobbooooboon

1.3.1 IDLOOO (idl)
idl0000000000

o 3

1.3.2 O0OD0OOOOO (.r rddt)

gbbooooguoououooooo

CIDL> .r rddt ]

1.3.3 00000 (.r pldt)

goooooboobobobboo

/IDL> .r pldt )
% Compiled module: $MAINS.
Plot columns \& rows 7 : 2,2
Variable for color-maps 7 (ro,pr,te) : ro
start step 7 : O
%

20000b0ooboooobobbboboobobobooobobooooobon
googbobbobooboboobooobbobbooobobobobo202000000
gbbogbobobboodbotboodbbdretdddbprbdbdtedgbnonbn
0000000000000 (vx,vy,v2) 0000000 (bx, by, b)) 0000000000
gobbobooobobboboboobooooboobobbobbbbobbbon

1.3.4 00O0O0DO0O0OOOOOOOO (.r anime)
gbooboboboooobbodo

(IDL> .r anime )
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1.3.5 0000 (loadct,390 xloadct)

UOudboobbubbiblbUloadet, 39000000000 UL Upldt.proll U0
good

(IDL> loadct, 39 ]

loadet 000000000000 O00000000O0000 000400000000
00000 000 B-W Linear(00)0 0000000 3900 rainbow-+white(d +0) O
0000000000000 Oxleadet00000000000000000000

[IDL> xloadct )

1.3.6 IDLOOO (exit)

IDLOogooobooood

[IDL> exit )
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CANS 2D00 00000 (cans-1.00)
oooooooood

hdmlw/ OO0OOOO0OOMEDODOUODODOO Lax-Wendroff 0O ODOOOOOO
goboood

bc/ gobbooobbooooboddg
common/ OO DOO0ODOOOOO0O0OODLOODODOODOODODOO

cndsor/ DO UOUOO0OOOOD100000O0O00O0 Red Black SORO U DO OO
gboooogo

cndbicg/ DUOUOUODUOODDO1000O0DOO0DODO BICGUOOOOLOODOO
ooogogd

htcl/ OO0OO0OO0ODOOO0OOOOOOODOOOOOOODDOO

selfgmg/0 0000 Multigrid IterationO0 0000000 ODOOODOOOOOODO

commonmpi/ O OO OOOOO
ooooooboooboooboooboboooboobOon (veD
cndsormpi/ OO0 O OOO0O
000000000000 10000000 Red Black SORO OO OO
OOooooooo (MPI)

md_x+xx/ 000000000000 [DO0O0O0O0OO0OOCOJoOOOOO0C0O
mdp_x*xx/ 000000000000 [DO0OO00O0OC1O0OOO0O0O0O00CO

/
0000000000000 0O0DODO00O0O0O0OOO0OOO0ODOOUODDODOD (DOOO
0)0000000000000C00O000DODO00O0000ooooooooooooo
0000000000 UOmdshktbD mdpshktbD O OO0 O0DO0O0OOO0OOOOODOO
goboobbuoboobbouoobobobo

37




gobobooaon

-
md_advect/ OO0 [O00O]

md_shktb/ 0000 [O00O]

md_itshktb/ DO OO0O0O [0DOOO]

md_mhdshktb/ MEHDO O OO [MHD]

md_itmhdshktb/ OO MEDO O OO [O O MHD]
md_mhd3shktb/ 300 MEDO O OO [30 O MHD]
md_awdecay/ OO0 Alfven OO O OO0 [O0O 300 MHD]
md_thinst/ OO0O0O [0DO0O0O]

md_cndtb/ OO0 O0 [O0OO]

md_mhdcndtb/ OO MEDO OO [MEDODO O O]

md_shkref/ OO 00O [O00O]

md_kh/ Kelvin-HelmholtzO O OO [O0O]

md_rt/ Rayleigh-Taylor OO OO [O0O0O0OO]
md_sndwave/ DO 0000 O[OO]

md_mhdwave/ OO MHDO O OO [MHD]

md_mhdkh/ MHD Kelvin-HelmholtzO OO O [MHD]
md_mhd3kh/ 3 [0 0 MHD Kelvin-HelmholtzO O OO [30 0 MHD]
md_recon/ 000000000 [MEHDOODO]

md_recon3/ 300000000000 [300 MHDOOO]
md_efr/ OO0 OO0OOOParker 000 [MHDOO O]
md_corjet/ 000000000 [MEDOOOOOO]
md_mri/ 00000000 [MHDOOO Coriolis O]
md_mricyl/ 00000000 [MEDOOO CoriolisO OODO]
md_reccnd/ 000000000000 [MEDOOOODOOO]
md_cndsp/ OO0 O0O0O0O0O0O [DODOOOOOOOO]
md_sedov/ OO OOOOSedovd [DOOOODOOOO]
md_jetprop/ 000000 [ODO0O0OODOOO]

md_mhdsn/ MEDO OO OO [MEDOOOOOOO]
md_diskjet/ 00000000 [MEDOOODOO]

md_cme/ DO00O0OO0O0O0OO00OOLowD [MEHDOOOO]
md_cloud/ OO0ODOOOOO [DDODOODOODOOO]
md_mhdcloud/ OO MEHDO OO OOO [0DOMHDOOOOO]
md_mhdgwave/ 000000 MED O O [O[MHD]

md_parker/ 00 Parker 0 00O O[MHDO O O]

N

Version 3.2 (2003/08/08) 00 0O O00OOO0ODOOOOOODOO
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